CRQ Prompt:
W.E.B. DuBois wrote the passage above because he disagreed strongly with Booker T.

Washington. How does DuBois make his argument that Booker’s approach is wrong? Use
information from the passage to support your explanation.

1. Identify R.A.C.E.S. in each passage

Ludoe conhe. tie acauent ot Booher's

N
QG(WOQC\(‘» s wrong Wecause Du Bo) asng

Jx\f\o\-‘r D\OAC\N Denm\é ane \)D ot easyk Sor e

Qragemlr Mee -\\r\\r\O\% i—ws* Do\\)rxco\ oojmer« second,

\O \\g%r\(\e o Ccwl \yxcm'k% %wd ‘(\\C\hav Qd\)(‘@\‘h(‘(\

ct Neoarag wautin, \Q\?O \\J\VGWO%‘(\\(‘Q\f\(XﬁS Aot e

vog Yéoded 4o make tre w\nr\pc; Morth ardl oA,

NEY Ne Beden b e ceora oxanem 46 e

\\)QQvu < SoudecT ond smrnfmfde s Critical

DPF %O+()r S

\u\%\s noode  \Ne G\W\MYL&D&JE}C&_Q:QQL@%

APRroalin S WOYoNdy bk ’W(‘)\(\)ﬂ\’\n\ oK \nowy

N\r WOSH NAD N Lfnnk) XD s&m’r&x IO 4 and No .
@o&r‘«\ v O AYWe . The Yinas My Nabh\rvv\?w\
S0 lm,ro WY\ Q mo\ dPrAVbd\ﬂo*\ )\M\mch (0. 0.\'/ LOR\\-es
Mg IRGEN ) oo\ ax & r\/M\\m \fm\\m r‘ﬁmr@s&d

r‘raa\s MY, Nabh\nc\‘rbhs C\Ne OO \-mdgd é’bmt.g,
J\m Wi e — g S*rm\d oS\de AS ‘trvical qma'a-\-nrs,
BrlLorina Jrh Anptt M Msmno})kbvx .
f)emm\né)\ A D\ac¥  wan +V‘l|na\ o A Mhn@ ?
/X8 ot SV‘\é% Dwrwce Ny \Amh\mm NS>
m\m\ DO\NW%\ A W Ny dv)\d\m,z he
Cﬁ\% \»L Wos  on Yo dds Y wonden. o
Wsran 2 My SN nadi N Qs-\-O\‘\”gM\\‘Q@—_dMV\
our el wipve I ary"— Cask v dowin
r?x vv\m.\m Przads VYA Haa soadharin (AWake

h, ‘\i\mwx\;\ ) m,\r)\-dL L row Hna Ny Nﬂ\b‘/\l\\y’ﬂ’\

rad )7‘

a"»
.



2. How can students improve their CRQ responses? What feedback do they need?

CRQ_SCORING RUBRIC
CRQ Score Content Use of Details Structure
The response provides a The response provides relevant | The response follows
3 clear, complete, and and specific information from the RACES strategy
accurate answer the passage
The response provides a The response provides some The response
2 partial answer to the task information from the passage | somewhat follows the
and may include inaccuracies RACES strategy
The response provides a | The response provides little or no | The response does not
1 minimal answer to the task | information from the passage & follow the RACES
includes inaccuracies. strategy
The response is totally The response contains The response
0 incorrect or irrelevant insufficient information to contains no clear
demonstrate comprehension structure
CRO GRADE: 9/9=3 8/9=3 7/9=2 6/9=2 5/9=2 4/9=]1 3/9=] <3/9=0

CLASS GRADE: 10/10 = COMPLETE EFFORT  8/10 = MOSTLY EFFORT 6/10 = SOME
EFFORT 4/10 = VERY LITTLE EFFORT 0/10 = NO EFEORT

3. Using the above rubric, what grade would you assign to each CRQ response?

Why?
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